KC-1I 200 (KC-II-200)

SN Part No. Description QTY Unit price
1 KC200-001 Distributor case 1 25.00
2 KC200-002 Distributor 1 25. 00
3 KC200-003 Bearing seat retainer 2 10. 00
4 KC200-004 Bearing seat 2 30. 00
5 KC200-005 Arm 1 250. 00
6 KC200-006 Worm sleeve 1 30. 00
7 KC200-007 Worm 1 80. 00
8 KC200-008 Reduction disk assembly 1 58
KC200—-008A Collar A 1 7
KC200-008B Connection unit 1 160
9 KC200-009 Motor 1 200
10 KC200-010 Heat shield plate for motor 1 15. 00
11 KC200-011 Reduction box 1 350. 00
12 KC200-012 Spacer 2 8. 00
13 KC200-013 Worm shaft 1 35. 00
14 KC200-014 627 bearing retainer 1 8. 00
15 KC200-015 Jointer seat 1 40. 00
16 KC200-016 Bottom leg 2 50. 00
17 KC200-017 Heat shield plate for Magnet 1 5. 00
18 KC200-018 Electrical box cover 1 30. 00
19 KC200-019 Electrical box bottom 1 30. 00
20 KC200-020 Transformer 1 150. 00
21 KC200-021 Power cord 1 35. 00
22 KC200-022 Metal cord (3P) 2 25. 00
23 KC200-023 Metal plug (3P) 2 25. 00
24 KC200-024 Connection wire 1 80. 00
25 KC200-025 Electric board washer 2 25. 00
20 KC200-026 Electric board 1 250. 00
27 KC200-027 Base Arm 1 300. 00
28 KC200-028 Electric board fixing plate 1 20
29 KC200-029 Mini Transformer 1 100. 00
30 KC200-030 Electromagnet switch 1 20. 00
31 KC200-031 Switch label 1 5. 00
32 KC200-032 Control panel assembly 1 150. 00
33 KC200-033 Control panel 1 20. 00
34 KC200-034 Speed adjusting knob 1 80. 00
35 KC200-035 Forward—backward switch 1 20. 00
36 KC200-036 Fuse 1 5. 00
37 KC200-037 Fuel gas hose 1 20. 00
38 KC200-038 Oxygen hose 1 20. 00
39 KC200-039 Fuel gas hose coupler 1 15. 00
40 KC200-040 Oxygen hose coupler 1 15. 00
41 KC200-041 Hose bracket 1 5. 00
42 KC200—-042 Fuel gas hose coupler washer 1 5. 00




43 KC200—-043 Oxygen hose coupler washer 1 5. 00
44 KC200-044 Fuel gas hose coupler nut 1 8. 00
45 KC200—-045 Oxygen hose coupler nut 1 8. 00
46 KC200-046 Oinlet connection 2 8. 00
47 KC200-047 Magnet 1 525

48 KC200-048 Distributor jointing plate 1 10. 00
49 KC200-049 Fuel jointing tube 1 15. 00
50 KC200-050 Oxygen jointing tube 1 15. 00
51 KC200-051 Distributor 1 60. 00
52 KC200—-052 Fuel gas valve 1 20. 00
53 KC200-053 Oxygen gas valve 2 20. 00
54 KC200-054 Fuel gas hose 1 20. 00
55 KC200-055 Oxygen hose 2 20. 00
56 KC200-056 Cutting torch 1 90. 00
57 KC200-057 Cutting torch unit 1 280

58 KC200-058 Torch holder 1 25. 00
59 KC200-059 Handle 2 10. 00
60 KC200-060 Pinion 2 15. 00
61 KC200-061 Cross bar holder 1 120. 00
62 KC200-062 Lift bar 1 50. 00
63 KC200-063 1lift bar rack 1 20. 00
64 KC200-064 Stop Ring 2 5. 00
65 KC200-065 Cross bar 1 50. 00
66 KC200-066 Cross bar rack 1 30. 00
67 KC200-067 Center unit 1 80. 00
68 KC200-068 Torch holder jointer 1 30. 00
69 KC200-069 Tip fixing nut 1 10. 00
70 KC200-070 Scale ring 1 10. 00
71 KC200-071 Center locator 1 50. 00
72 KC200-072 Center tip 1 15. 00
80 KC200-080 Screw M4X16 8 0. 50
81 KC200-081 Flat gasket M4 18 0. 50
82 KC200-082 Inner hexagonal Screw Mb5X16 8 0. 50
83 KC200-083 Dia M5 Flat gasket 21 0. 50
84 KC200-084 Gasket ring 3 10. 00
85 KC200-085 bearing 627 1 7. 00
86 KC200-086 Half sunk Screw M4X8 1 0. 50
87 KC200-087 Elastic pin M2.5X12 3 0. 50
88 KC200-088 Screw M4X12 8 0. 50
89 KC200-089 Screw M4X8 22 0. 50
90 KC200-090 Screw M3X10 2 0. 50
91 KC200-091 Screw M3X6 2 0. 50
92 KC200-092 Wing bolt M8X20 2 6. 00
93 KC200-093 Flat gasket M8 2 0. 50
94 KC200-094 Outer hexagonal screw M10X15 1 1. 00
95 KC200-095 Flat gasket M10 1 1. 00
96 KC200-096 Wing nut M8 2 5. 00




97 KC200-097 Outer hexagonal screw M8X60 2 1. 00
98 KC200-098 Elastic pin 2.5X18 2 0. 50
99 KC200-099 Outer circlip Dia 25 1 1. 00
100 KC200-100 Bearing 6005 1 10. 00
101 KC200-101 Bearing 6906 1 10. 00
102 KC200-102 Outer hexagonal nut M6 1 0. 50
103 KC200-103 Flat gasket M6 1 0. 50
104 KC200-104 lifting screw M6 1 5. 00
105 KC200-105 Inner hexagonal Screw MbX10 3 0. 50
106 KC200-106 Wing bolt M5X12 1 5. 00
107 KC200-107 | Inner hexagonal flat locking screw MHX8 1 0. 50
108 KC200-108 Screw M4X24 2 0. 50
109 KC200-109 Outer hexagonal nut M4 2 0. 50
110 KC200-110 Wing bolt M4X8 4 6. 00
111 KC200-111 | Inner hexagonal flat locking screw M3X5 1 0. 50
112 KC200-112 Outer hexagonal screw M5x8 1 0. 50
113 KC200-113 Wing bolt M6X16 1 8. 00
114 KC200-114 Outer Circlip M13 1 1. 00




Only for KC-II series
Only for KC-II series










